&4 11-74
FAAPE 737130

EEIOE!

Jvmo

A7 olsk FARAZE AT1 (KA AL o] &

7F

J)

P
fi%e)

el WAIE = 1 FAA

=13
=

o] 479

A1 2] A 9717 wEE kA FARRLZE o] S A

o=

e C -
g =

Tq-- iy

=

ol
%o

!
,mmo
-
).

7ol

[ [ W W W W
RO X0 RO RO RO RO
B/ B/ B B B B
~ ~ ~ ~ ~ ~
& | e e e e e
ﬂ LO LO LO LO LO LO
5 | e =T =T e er
O |HR G B g g B
~ ~ ~ ~ —_~ —~
;OL . ;OL . ;01_ . ;01_ . ;01_ . ;OL
ey ey R s i AR w
T 5 T 5 oot | o | ot |
S W+ S 4k S G+ S ¢+ ¢S
iy 3 =K
° N PR A
- - N
L.m;l vﬁ oy HL ;&o
N T o o il
= oI il T X
i} i x RO o
X = " N oy i
@ .‘mu X .‘mu @.ﬂ AT.C ﬂﬂ_ ]x
— JaS U<
= T+ = ~ N ™ s
s B B P BE[
T BN _T "7 o
,AL =) —_
~ X ~ X =) X MoF |
& o 5w o X S
Z N N N N
—- < MECe N N RN
A MoOX = Te! o o |
o ~ o R = |- — — [aN]
— = wmu — T 2 |~ — —~ W |~
- - U =B i R e T b
T - BT o< BT £ RN




Uz T At

A11.48Z2 (A5 AEFFS 23F) 104, 3 ¥k 59z A=
T At

A11.62z2 (8l 3%, As 2 =72 #7) | 104, 3 Hwk 59 A3=

A2 T Ak

A11.64%(FHZA) A 187 10, ¢ ®wk 5z Ax=
T At

A11.742 (@A A3 L ) A33vs 9| 10d, s vk 5d3F A4

s T Atk

A11.752(HA" g2 Halel digh | 104, 3 Hwk 549 A=

Al x4]) T AU

NRFF s

T 3713k

A1L.9% (A A7) A1 vtz 104

( TAIAAAAEAZ T A=A 20k o o

atol)

A11.92 (A @A) A 1 3uvks 10d

( TAAA A A7 DA 2 FHE 2ok o

o 3ko)

A11.92 A FA) A 1AL, vhepAIAl £ | 159

oFe] tfja}o]

A11.19%(AERT) 154

(M3 Lo disted)

A11.222 (4% 55 4 =D A287t= 109

= o]

Al o}




g

3 2713t
A11.92 2 @A) A 1EALS 54
(nke}A A Z ko] th5}e])
73 713t
A 11.9 2 F4) A 1 &7 5E AFE7H| 10d
A]
(I FoF, MEF e, S gk, nttg
© oAGA, THAAAANAEZF A&d =
ok | TAAXAAAZ]F Al 2 S0k %
oF; 4l mpgpAA] ko] tfjstod)
A 1119 2 (AFERF) 104d
(&g 27 gistod)
A 1122 2% 55 9 2DA 238715 |54
IS ey
A 11.30 2(AFF FAY HeE 93 5y (10
a7 A=}
A 1148 (A &E AFF HD) 54
A 11.70 2 (AA 242 45 @gAte] o8t 3 4
of A3t = el AFE = 4R)
A11.75F2 A Aol Hajo | 104




773 A77)7¢

AT1L.9% (HAF H8) A1 vte 3d
( TAIAA A AAEA 75 A2 20k, o o

afol)

AT11L.9% (A 478) A1 dnk= 54
( TAA A A AAZ] - A 2 2xF ok, o

thskod)

Al 11102 (A &2, Adzkel SubA2kAke] | 54
Hjerd de]) (At tiske])

A11.11Z2 085 gzt v (Ao |54
Zfef tjste])

A11.4421870<4 & 71) 54

A11.62x (el da, Am 89 =9 #H7) | 54

3 A7\t




AL1L.9% (A A7) Al 1dvk= 3
( TAAIA A AA 7] A A 29, o o
ate])

A11.9% (A A7) Al 1@dnksE 3
( TAIAAR A7 AA 9 59 2ok o

o akol)

A11.9% (A A7) A 1A 54
(PFe}AIA] ZCke] thate])

A11.19% (FERD) 3
(g Bl tistod)

A11.22%2 (3% o5 2 D A287S 54

=
(FE] AeE 9% A =4 A= 24

°f ths}od)




